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. (16%) Suppose‘ that two investments have the same three payoffs, but the probability
associated with each payoff differs, as illusirated in the table below:

Payoff | Probability for investment A | Probability for investment B
100 : 0.55 : 0.70
400 0.44 ' 0.20
900 0.01 , S 0.10

1) Find the expected return and variance of each investment.
2) Dr. A has the utility functionU = 47, where I denotes the payoff. Which investment

will he choose?

3) Dr. B has the utility functionU/ = J4I . Which investment will he choose?
4} Dr., C has the uti_-lity function/ = 4I*. Which investment will he choose?

.. (10%) NTCB manufacturing company produces toy. The firm’s production fun'ction is
given as: ) ‘ ’
Q=10KL :

where  =quantity of toy, L =labor measured in person hours, K =capital measured in
maéhjng hours. NTCB’s labor cost, including fringe benefits, is $10, while the firm uses $40
per hour as an implicit machine rental charge per hour. NTCB’s current budget is $32,000
per month to pay labor and capital. Given the information above, determine the quantities of
labor and capital that will allow the firm to maximize output given their budgeted input
expenditure. What is the ﬁnn’s output?

 3.(14%) The demand for on-line consulting services is: @° =300~5P . There have four firms

operating in this market. The consulting firm specific marginal cost functions
1 1 1
are: MC, (91)= G » Mcz(%):E% , MC, (93):'59'3 > MC4(94)=Z'§14 . Calculate the

collusive output level and market price. If the consulting firms behaved competitively, what
would be the output level and the market price?

4. (10%) Suppose a regulated utility faces the following demand curves:

Demand Off-Peak: P = 50-0
Demand Peak: P =110-0

Marginal costs are: MC =20+ %Q . Suppose the regulatory commission sets P=30 during

both peak and off-peak periods. What is the social cost of such a pricing policy?
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